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arccosh x = log (CL‘ + \/ﬁ) (20), z>1
= =log (w—i—\/:m)

arctanh x %bgijx, -l<z<l1

00 230 OO arcsinh x0 arccosh x0 arctanh x

goooooon

00240 0000000
ooooooooo)

gbobobobob

OO0 ((Cooooooo

differential:no (o), differentiation:00 (cooo), derivative:noo

e 00 (00O oo0OD
df (z) )
1 _
J) = dz _}LIL%
o [1[J
1. 000000

2.000000

O @ooooy)yooO0OOoo0)

flz+h) - f(z)
h

(f+9) =f+4d

(f9) = f'g+fd

= (fgh)' = f'gh+ fg'h + fgl

= (fifofsfs) =| + + +
N fg—-1d
3. 000oon <g>—92
4. 000000000 (chain rule)
A=) df dg
dx dg dx
0o (fg@)) =f(g() g ()
5. 0 CDZ aoad ? ogdn .
;y — -1 I _
i A )

gbobo3ooo20 0040000000

( f(x)/g(x) = f(x)h(g(x)), h(y)

1 oono)
Yy



